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x1+2x2 =8

A psiinal) 3 asiiall 2 aalliauall
x,+4x,=0 x,=3 x,+t3x,=6
X1 X2 Xl XZ
0 0 0 2
-4 1 6 0
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X1:2
X2:3
Zmax= 1(2)+4(3)=14

X1







X1=6
Xo=0
Zmin=1(6)+4(0)=6
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A asiial) 3 asiiall 2 aadiall 1 axiceal)
x1+3x2= 0 X X, = 6 3x1+x2 =9 x1+2x2 =8
X1 X5 X1 X, X1 X, X1 X5
0 0 0 6 0 9 0 4
-3 1 6 0 3 0 8 0
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A paaiial) 3 aiiuall 2 aalieal) 1 Al
x1+2x2= 0 X X, = 6 3x1+x2 =9 x1+2x2 =8
X1 X> X1 X, X1 X3 X1 X3
0 0 0 6 0 9 0 4
-2 1 6 0 3 0 8 0
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X].:O’ X2:41 ZmaX:8
X1:21 X2:31 ZmaX:8

o)

T X1




A asiiaal I 2 aieual 1 askicual)
x+3x,=0 X +2x, =6 4x +9x, = 36 X, +x, =4
X1 X2 X1 X X1 X2 X1 X2
0 0 0 3 0 4 0 4
-3 1 6 0 9 0 4 0




X1:O1 X2:31 Zmax:9
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A paaiial) 3 aiiuall 2 aalieal) 1 Al

x1+4x2= 0 X X, = 2 x1+2x2 =8 5x1+3x2 =15
X1 X> X1 X, X1 X3 X1 X3
0 0 0 2 0 4 0 5
-4 1 2 0 8 0 3 0
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